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1. ROXZREGHEEX. (S0, A175308, B#K3D, CHK597)
203 + 722 + T+ 2
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2. RORZREAREEX. (SHK508, Ak17530%, Bfk3m, CHks59)
3x3 — T2 — Tz +3
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1.

R§TZA+ E#SRE WAWB 05 EERESH

RORXE R EE XK. (SHK50R), Afk15308, B3 7, CH59)
203 + 722 + T+ 2

* FREOXTEDFIA
AR Z DNEICHiNTHRE - EERZ L 27,72 L2 D AN FCHREODTE DT,
H5RX = 223 +2 + TP 4T <EADS 1TETOY o THHL
= 2(z3 4+ 1) + Tz(x+1)
= 2@+ 1)@ -2+1) + Tz(z+1)
£oT,
5X = @+1){2@?-2+1)+ Tz}

(x4 1)(22% + bz + 2)
(x+1)(z+2)(2z+1)
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2.

RORZP R EE L. (SHK50R), AfR1595308, B3 7, C#H59)
3x3 — T2 — Tz +3

* R OXFREDFIA
FENE DNEICH R TR - CEER 2 L 3,-7-73 L2 EAWFR. ACBRBEODDTELHT,
5 = 323 +3 + (=722 + (=Ta <EG20 1HTDL o THEHAL
= 3(z3+1) - Te(x +1)
= 3x+1)(z2—2+1) - Tx(z+1)
£oT,
55X = (@+1) {3 —x+1) - Tz}

(x 4+ 1)(32% — 10x + 3)
(x+1)(x —3)(3xz —1)
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